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You have been called for the written test based on the online data furnished by you in the web application, If you have
wrongly entered any information in the web or you do not possess the required qualification as per our advertisement,

your candidature will be rejected.

% qfieTT giet 7 fAdreTes hr 3uTeafy 7 &1 39U gid-Ttehe UT gTdmeT ST I1gv|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

3. SRA-T, 80 F2&AT & FereT SRA-GReAH & FT A § R qldiet A @i 02 6T ¥ |

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

4. Al H IR A faw g@dl ufa Ffed 3rerer MTANR Scar-gRecenr & el

A separate OMR answer sheet with duplicate will be provided to mark the answer options.

5 U& U2 HfAT 04 31w gl 3R 9« 7Tad 3cak ST TF 3% FHeT S |

Each question carries 04 marks and one mark will be deducted for each wrong answer.
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maﬁmﬁgﬁ—awa—m%ﬁﬁg(t/a”f/ﬁ@rmaﬁmmmmw%ﬁwmﬂ

Tor@= @fgu|
Question booklet series code (A/BIC/DIE) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided. ‘

q@a-gﬁaﬁrﬁmamaﬁnwgﬁﬁ@!

Enter your Name and Roll Number correctly in the question booklet.

Wmmgf?awﬁmﬁgﬁﬁﬁsﬁmaﬁw@#ﬁamﬁzﬁa@ﬁﬁmml
Al entries in the OMR answer sheet should be with blue/black ball point pen only.

mﬁmﬁﬁa@wm%wagﬁﬁaﬁﬁmwmmﬁmml

The questions will be objective type with four options out of which only one will be unambiguously correct.

3T, mqﬁamﬁﬁqmmaﬁﬁm S/l TITEY & dfel uTse U ¥ TTHIR 3cal-
mﬁwﬁamaﬁmwaﬁmwwm%t

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen.

TEH U2 & TaIT 31aeh 3cal el AT ST |

Multiple answers for a question will be regarded as wrong answer.

b, Aite 3nfy e $r STeeft

Computers, calculators, mobile phones and other electronic_gadgets, text books, notes etc., will not be
allowed inside the written test hall.

T 9T Bl W, mﬁms?m-qﬁ?cmaﬁmaﬁaaﬂﬁiﬁﬁmaﬂﬂﬁmmm-w
ordieTe 1 i oo gEd wiy 3T I W

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you.

eeT- et 3l 3% oT T el ¢ |

The question booklet can be retained by the candidates. »

e & S 6 3 2R arra TRt Y o giel Sige Y 3TN e ¢
Candidates are not permitted to leave the examination hall during the first hour of the examination.

]
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FHANRTgT - sysor AFAF (1304)/Technician B — Instrument Mechanic (1304)

CIER:E] FT 3TANT HLT gl

Load cell uses

(a) dad ﬁa:ﬂ?f feREcel/piezoelectric crystal
(b) a;qlﬁ?\"/capacitor
(c) 3F=AIeT Wehcd/mutual inductance

(d) ﬁ%ﬁ UATY/strain gauge

T& HOUY & & fFay efAaar & e fear Srar g

The two input terminals of an opamp are labelled as

(@) 3T aur Te=/High and low

(b) fader gar #/Input and ground

(c) widellds aar 3vfaeidAs/Inverting and non inverting
(d) 37gshd dAT 3Fdehd/Differential and non differential

feafia uftear & ghrer aTforem3il & sreaae e 3faa &1 fFe Hmen & adar
& e |

It is required to study transients during switching process. Which CRO should be preferred?

(a) TTETROT HI3L3/Ordinary CRO

(b) 3T §IF HIRA/Dual beam CRO

(c) Ead IR WIR3Dual trace CRO

(d) #SROT HTfAERIT/Storage oscilloscope

39 TF $ufdex &t frdr FEde & fAadl & Ser Sar § aF digecd IRHd: T
e gfeRty g wtar ¥ 3R siaa: seiaar f Rl & 3 Sar g1 9% 5§ 9 A
I & § & Fufe gl

When a capacitor is connected to the terminals of an ohmmeter, the pointer indicated a low
resistance initially and finally come to infinity position. This shows that capacitor is

»

(a) TEAAA/short circuited (b) TSersher Sie/all right
(©) IRO/faulty (@ e IRUfAT/open circuited
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EaTS-3/g31 W FINT T SIS Fholl T 3YAT Fd ol

Baggage scanners employed at airport uses

(2) amﬁ%ﬁawgaﬁwwwnﬁ%gmaﬁa
Ultra-sound to detect prohibited products in baggage

(b) mﬁﬁﬁaaﬁﬁaﬂwmﬁ%—gmm
Gamma-rays to detect prohibited products in baggage

(©) mﬁ%ﬁaaﬁaﬁﬂwméﬁow-m
X-rays to detect prohibited products in baggage

@) T & Pfvg aeqat # g F 8 HREFT
Infra-red to detect prohibited products in baggage

e AT ¥ AT S adeIdT & AT FEd ol

A measure of the repeatability of a' measurement of some quantity is

@ Fferror (b) IRYEVprecision
(c) TUdT/accuracy (d) HecaOlsignificant

oF AT aF TE F FA-Y & 7T W A ©7

Which two values are plotted on a B-H curve graph?

(a) GfcascH or 37f¥arg gu=dl/Reluctance and flux density

(b) REEIAT auT Ufscst/Permeability and reluctance

(c) gaaa?r S 2T WETFIA/Magnetizing force and permeability

(@) 3fRaE FEAaT qur e de/Flux density and magnetizing force

T WIHREN 1 GAT UR Fhd gl
The time base signal in a CRO is a:

(@ IAIdPR aIT-®4/Rectangular waveform

(b) 3=d 3-11'&"_%{ SATafrT aAT-%9/High frequency sinusoidal wave form
(¢) 3= H@%‘f e adeT-®q/High frequency sawtooth wave form
(@) TIISTHR TET-F/Square wave form

4
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10.

1l

12,

15

DVM is the abbreviation for:

FT TiECT & g SETA|

(a) faferee drad Hied/Digital vacuum meter

() RBfSca dicad A/Digital volume meter

(c) fBfoice diceHIe/Digital voltmeter

(@ fRaEst dedsr HARI/Divider voltage meter

doeat & A9 H AT Bl

Siemens is a unit for measuring

(a) dTelehdl/Conductance

() 3{fHare Fuad/Flux density

(b) wfaIe/Resistance
(d) ﬁa:g?f 8Y5/Electric field

v oRadt ¥ faeg guy oRad @ JoE F &g TgFd AfHerd

Recorder used to record one variable against another variable is:

(a) Ieaanfadrr 3fFedl/Galvanometric recorder

(b) TEFH-aTS NEHEYX-Y Recorder

() Teeu e 3ifFedl/Strip chart recorder
(d) Fed T e ITAAW!/Circular chart recorder

ATIAT T THINS I

SI unit of temperature is:

(a) WfeRrTA/Celsius

(c) Ifewa/Rankine

SegeT GRT & 3mgfed

Frequency of direct current is :

(@) Y=d/Zero (b) 50Hz

gl

(b) WRAgSc/Fahrenheit
(d) w*feae/Kelvin

el

() 60Hz d) 120Hz

1304/16



14. W5 & T Bl

Farad is the unit of :

(a) Wehed/Inductance (b) &TidT/Capacitance
(c) ERT/Current (d) 3TTdel/Charge

15. mwﬁmmmm,mmwmﬁmmﬁ

FEd ol
The smallest change in measured value to which the instrument will respond is called
(a) FATAdN/accuracy (b) TREdprecision
(c) gaeiel/amplification (d) fgfes/resolution
16. ﬁran?r#ﬁa%wﬁﬁm%%vqgwﬁmmwﬁ S|
The material used to coat inside the face of CRT is
(a) FTaeA/Carbon (b) TeHY/Sulphur
() Tafeasilicon (d) IFPIE/Phosphorous

17. gfcl 9HTg T gl Tdg Fal 67

What does a hall effect sensor sense?

(a) dTIATA/temperature (b) =THI/moisture

(©) ﬂﬁaﬁﬂ &F/magnetic fields (d) gSla/pressure
18. U fTamh

A TRIAC:

(a) e UATHS T dlecdn3i W RIRA HX Hehdl Bl
can trigger only on positive gate voltages
(b) Fae FUTHF e dreeanit T RER T FHhT T
can trigger only on negative gate voltages
(©) 3 dieeanit & Try 38F IR agr fomam S el
cannot be triggered with gate voltages
(d) ma#ammmﬁwwﬁzaﬁmw@mﬁmmm%l
can be triggered by either a positive or a negative gate voltage
A 6 1304/16



19,

20.

21.

22,

23

oTe faegc YeIIa T HROT AT 82
What causes the piezoelectric effect?

(a) HEAA ETIT;TB%T YUY d9/heat on dissimilar metals
(b) TH fohred W cld/pressure on a crystal

(c) g W varfed Sei/water running on iron
(d Us gaﬁtr &7=/a magnetic field

w%@aqﬁaﬁwg‘mﬁﬁrmmgwﬂmaﬁﬂ—m%?

What is the moving part of a linear variable differential transformer?

(2) Uf&s F3elal/Primary Coils (b) &facirs F3eiri/Secondary Coils
(c) SHNRIA/Diaphragm (d) %I8/Core

fArfaf@a At & e gfee awwa §2

Which of the quantity consists of unit as Pascal ?

() dMYATA/Temperature (b) cId/Pressure
(¢) ddl/Force (d) 3TaI/Impulse

el IRT ®M & geTee & Ao s & § H Ygad U Jeaer @ dd

gRads & 3N Ear gl

A load cell which is basically used as a transducer in the operation of a weighing machine

undergoes the conversion of
(a) <ol &1 ﬁaﬂﬁ' Hehd & ®T H/Force into an electrical signal

(b) <Id &1 ﬁajga Hohd & T H/Pressure into an electrical signal

(c) IO 1 fa'c‘\}g?f bl & & H/Acceleration into an electrical signal
(d) T & ﬁaﬂﬁ Hhd & ®F H/V elocity into an electrical signal

fohll ueRtor & Jfe H FUROE: & gfderd & &7 & e S g
The error of an instrument is normally given as a percentage of

() FUT HeA/measured value (b) YUT-ART FHed/full-scale value

(c) HEIATHA/mean value (d) ™ms Hed/rms value

7



24.

25.

26.

27.

28.

o VT T 3aRE Sy

The internal resistance of an ammeter should be

() g BIeT/Very small (b)
(c) 3<d/High (@

U-eIET YTl H HUIRT AR

gl gyl

HEIH/medium

HeTaa/Infinity

g Bl

In N-type semiconductor, the minority carriers are

(a) Sorgiet/Electrons ()]
() T&g/Holes - (@
safa deer @ gfe %

Unit of luminous intensity is

(a) A/ Lux (b)
(c) hsell/Candela (d)

g 7 v A HiI-AT 57
Gas lighter uses the principle of

(a) @leT Ta/Hall effect

(b) <& ﬁﬂ:{lﬁ Y3{Td/Piezo-electric effect
() aa gfauy gHTd/piezoresistive effect
(d) ESOT/Friction

Uield/Protons
OiTeiglel/Positrons

F{Iﬁ?-f/ Lumen
’R_Iaﬁ?—fl Jie/Lumen/watt

Zener diode is used as the main component in DC power supply for:

(a) TiRATEA/Rectification

(b) dvecar fafazae/Voltage regulation
() Taedess fenan/Filter action

(d) YaE=/Amplification

1304/16



29,

30.

31,

32.

Teh HIHRAT H Frafoii@d & § i Solacle aeT &7 HeT Jar &2

In a CRO which of the following is not a part of electron gun

(a)
(®)
©
(d)

$AU1S/Cathode

farglerid

cak&h UaATS/accelerating anode
TFH-aTS Tole/X - Y plates

3fa 3= 9feRIy & A9 & v &7 frger g fraremer @ik

For measuring a very high resistance we should use

(2)
(b
©
(d)

hfeda gfadic/Kelvin's double bridge
Ak @H/Wheatstone bridge
HAIR/Meggar

AT aF (a) STT AT (c)/Either (a) or (c)

ffafaa & & Fa-ar @ 31 F v Riaka (geuggm) 78

Which of the following is not a transducer in true sense?

(@)
(b)

©

(d)

aa aag?r gaH/Thermocouple

a9 éa:{JDH/Piezoelectric
Hhrer 1%1?.313?]' Ael/Photo electric cell
TAHISI/LCD

U EHIT &1 F gl TF §Id aR 9T F TN F T F-HT §?

What are the effects of moving a closed wire loop through a magnetic field?

(@)
(b)
(©)

(d

dR # dieear IRa Fr ST F/A voltage is induced in the wire
R # 9RT 9T $r ST &/A current is induced in the wire
dR R & T, aifd T f&em o 48R &/ The polarity across the wire depends on the

direction of motion

3'51'{-:!33—?[ G/ All of the above
9 1304/16



3.

34.

33,

Wﬁﬂaﬁ%@nﬁa@@ﬁmmwgoﬁmmﬁ?wﬁgﬁw

W%Wm@mmﬁ%wm@ﬁ?

gl

X and Y plates of a CRO are connected to equal voltages of equal frequency with phase shift of

90 degree. The Lissajous figure on the screen will be

(a)
(b)
(©

(d)

ged/Circle
T {@M/Straight line
&Yer gect/Ellipse

8 ™F/Figure of eight

ﬂ¢mm$mm¢mmrmmmmmm

Charge Amplifiers are used to amplify the output signal of:

(2)

(b)

(d)

gfaRIes gaaiid/Resistive transducer
enTaT TRidYa/Capacitive transducer
NCRCEIG] g A/ Hall effect transducer

O1e aia T/ Inductive transducer

ﬁmﬁr@?rﬁﬁmaﬁﬁmﬁdﬁaﬁa-m%?

Which among the following is dis-continuous mode controller?

(2)

(b)

(@

Hﬁqm 352/ Proportional controller
AT A3/ Integral Controller
?TIT*I;EE\' foyd=3e/ON-OFF controller
e fedae/Derivative controller

10 1304/16



36.

37

38.

39,

Tl ATRhT & WaTg aT &I AT Fad fFar siar 22

The rate at which the charge carriers flow is measured in:

(a) @eTA/Coulombs (b) dTe/Watts
(c) dle-Hel/Watt-hour (d) UFII/Ampere

i@ 7 & araees a9y sla-ar

Which of the following are integrating instruments ?
() UHCYAmmeters

(b) @A™/ Voltmeters

(c) dieATdY/ Wattrﬁeters

(d) OFFPR-ger g are-ger j—'iT@ﬂAmpere-hour and watt-hour meters

T dsforat gt el &
LVDT windings are wound on

(@) RIS/ Ferrite

(b) S¥UTa 2Me/Steel sheets

©) ﬁﬂﬁﬁ?m/Alunﬁnium

(d ars/ Copper

——— & A A & v ARE va3rdy & g2@9r &Far smar g

Pirani gauge is used for measuring

() Toata wonfoat & g19/Pressure in vaccum systems
(b) fAPfA/Strain
(c) 3rtTarerl & wfdeel/Stress in semiconductors

(d) TRUAMIT & 6 /Force in accelerometers '
11 1304/16



40, foriem RO §1 aw § @ aren IRAT F ———Fed ¢

41.

42.

43.

44.

Errors due to assignable causes are called :

(@) TIfa= gﬁ'v!ﬁ/static errors (b) HHAIG gﬁﬂ?/ systematic errors
(c) 37AThe gﬁ?ﬁ/ calibration errors (d) TRRIH gﬁﬁ/ random errors
e ——— F I ®

Decibel is a unit of

(a) HTa/power ' (b) wfdeTHT/impedance

(©) Hlﬁc‘%flfrequency (d) 9raR 3Hedrci/power ratio

qﬁqar.aﬁ,ﬁﬁmmmﬁmm%@maﬁ o112 - ) (R
Taret T ST &

A voltmeter is comnected in a ———— with the circuit component across which potential
difference is to be measured

(a) 9T2d/Parallel

(b) Avil/Series

(c) Aoft Ir qred/Series or parallel

@ Wﬂﬁ #H @ P AEi/None of the above

W@@%WS@WWG%WWWWWMW
¥ oRome ¥y # gfag ———F|

A galvanometer of resistance G is shunted by a very small resistance S. The resistance of the
resulting ammeter 18 :

() GS/AG+S) (b) G+S

() G-S (d) Wﬂ?ﬁ F ¥ &S AL/None of the above
Ry F T e F e BT S @ aRey aRT ———— @l

When an ammeter is inserted in the circuit, the circuit current will

(a) E{_@’/Increase (b) @Ri/Decrease

(c) HHIA/Remain the same (d) 3"11113'-?[ # & P A6 None of the above

12 Ao 1304/16




45.

46.

47.

48.

SrAtaf@dr &7 AT HY/Match the following

1. Sdecid HASHIERT — (A) a7
Electron microscope Electron gun
2. gleeiedt ~  (B) WU USHIF od
Oscilloscope Condensing magﬁetic lens
3. NeadmRs e - (O Ao A
Galvanometric recorder Recording head
4. GaHrT fEer - (D) [T AT
Magnetic recorder Drive motor
(a) 1-A,2-B,3-C,4-D (b) 1-D,2-C,3-B,4-A
(c) 1-B,2-A,3-D,4-C (d 1-C,2-D,3-A,4-B
T Tl yatie ——— T g
A chopper amplifier

(@) P smafe & 3o maRd # Wi aet @ aRa
Converts AC signal from low frequency to high frequency

(b) mmammﬁmmwm
Converts DC signal from low frequency to high frequency

(© et amgid & S F il Fhal 1 IRaee
Converts AC signal from low frequency to DC

@ B g @ el 3 S Hhdl @ aRadH

Converts DC signal from low frequency to AC

mmmwwm:mmmmmm

What type of application would use an injection laser diode?

(a) 10BASE-T §2R#i¢/a 10BASE-T Ethernet

(b) %d foreee gea UeRle /a liquid crystal display

() UF WIZaX Y1 FaRUT Y& /a fiber optic transmission line
(d) TF IS &TUTEIT /a good flashlight

frafafea gfeel & & Fla-a1 & 73 I & :

Which one of the following units is a fundamental unit?
(a) =< /Newton _ (b) TfFIIT /Ampere

(c) dic /Watt (d) S[AAHT /Joule/sec
13



49.

50.

3l

52

TH e Hex H ———— FI=T @1V
An ideal meter should have
(@) 3AT¥ad Sfal/Infinite resistance
(b) 9RMAT AR/ Finite resistance
(c) U fhu S arer IRTYy W Seiper PS5 GG AL
Absolutely no effect on the circuit being measured
(d) AT FT T e aRey W ARET gia
Definite effect on the circuit being measured
T WIRIN F 9& W &g F @1 ———— HT I E
The colour of the spot on the screen of a CRO is a characteristic of :
(a) UH HIR H golFelal 91/ Electron gunin a CRT
(b) eToT FI ST arell aLET FT H THR
The type of the waveform being observed
(c) ud 9T faogsr Greafl/ The coating material on the screen
(d) 9E W U ggar arel SAFCI=A T AT
The velocity of the electrons striking the screen
S op-amp THHEF U T Go1 faer Rar snar § ar 3w e ———— gl
When a step-input is given to an op-amp integrator, the output will be
(@) TS YFI/A ramp
(b) U= SATGhIT dIT/A sinusoidal wave
(c) U=+ ITIAT GLET/A rectangular wave
(d) = O F Y vh FHIOIT dLEVA triangular wave with DC bias
e ae — fagia & 3uer &l &

Pitot tube uses the principle of

(a) EI?-SI‘\B'IT YAA/Bernoulli's Theorem

(b) 3TfRAES &1 f3TA/Archimedes principle
() g AIF/Boyles Law

(d) TIFEAA FHEIA/Thomson Equation

14 ' 1304/16



53.

54.

55.

56.

7 A

PR —— ¥ T suge g ¥

Chronometer is a device

(2) mgaﬁmﬁawﬁwmﬁam&ra‘:ﬁm%w%@

to measure the spectrum of lights emitted by metals when heated
(b)y THAIT % HIYeT/to measure time ‘

(c) {\Pf & HIY=/to measure distance
@ 3fa oY HR % HATYI/to measure very light weights

& gfy Y 2 O PR F oS o #

Cells are connected in series in order to increase the

(a) RT &HAN/Current capacity
(b) Al T IMY/Life of the cells
(c) W Fr ATAFAT/Conductivity of the cells

(d) ffsTer alecal/Terminal voltage

TeRd — & afEd Bl

LEDs are fabricated from:

(@) T&fdes/Silicon

(b) FTHETH/Germanium _

(c) fAfea a1 s#fET#/Silicon or Germanium

(d) AT JARAATSS/Gallium Arsenide

ST T3 =Tas Yeraf 1 Sfaier dagAeT & dea & I ——BIaT &l

The resistance of the most of the conducting materials ———— with increase in temperature

(a) <&dl/Increases (b) H©<dl/Decreases
() HATA Igdl/Remain same (d) ﬂ'{l‘ﬁ-’?—l’ TH/None of the above

THh, TF Folld Fal HeX A 1200 revolutions/ kWh T BFFI'HW gl I ax ue ¥ fav

500w$ﬁagﬁdﬁmarmmm%a1mm——a%ﬁmﬁ|

A single phase energy meter has the rating 1200 revolutions/ kWh. If a 500 W electric gadget is
used for 4 hours, the energy meter will make

(a) 1200 revolutions (b) 1800 revolutions
(c) 2100 revolutions (d) 2400 revolutions
15 1304/16



58.

59:

60.

61.

SrrfafaT & FiF SKehed IRGAA F G F SIIET e FAT?
Which of the following does not use the principle of change in inductance?
(a) TABIE/LVDT

(b) ehca arurT Wﬂnductance displacement transducer

(¢) faepcit JAT/Strain gauge

@ Rew=4g fO-31d/Reluctance pick up

& & BeE v, —— 8

In figure the output Vg is

(a) 2V, + Vo — 2V3 (b) 2(V1 g Vz) —-V;
(C) Vi +V2+V3 (d) Vi +2V2—V3

mstﬁmqﬁH%mw%mﬁﬂmaﬁqﬁmﬁam%im

TAT & AR, kHz 3 gferaae gfea o dg Ad &, T ——|

A band-limited signal with a maximum frequency of 5 kHz is to be sampled. According to the
sampling theorem, the sampling frequency in kHz which is not valid is
(a 5 (b) 12 () 15 (@ 20

;ﬁé’fﬁfiﬂﬂﬁaﬁ#ﬁﬁﬁﬁwﬁaﬁrmwmmmﬁﬁﬁqﬂ
ﬁ«ﬁaﬁf@mﬁq@ﬁmﬁwtmﬁmﬁmaﬁm-aﬁ%mmmhm%
e &1 FF ——— ¥ T TG ¢

A bulb in a staircase has two switches, one switch being at the ground floor and the other one at the
first floor. The bulb can be turned ON and also can be turned OFF by any one of the switches
irrespective of the state of the other switch. The logic of switching of the bulb resembles

(2) U JUT ga/an AND gate (b) T 3i 3R gdR/an OR gate
() TH TFH 3 3R g@R/an XOR gate  (d) T AT T &aR/a NAND gate
16 1304/16



62.

63.

64.

65.

fAfaf@d ag-degd 7 # 8 T R ——— 3
Among the following thermocouples, T type is :

(a) ﬁﬁﬁﬂ'—ﬁ@ﬁﬁ/Chromel-Alumel

(b) HIAT-PletreA/Chromel-Constantan

(c) dicfI-q';fu*i-é.u-é.a-T/Copper—Constantm |

(d) elET-BleEdea/ron-Constantan

AICATI! &1 &9 F3ell ———— T 4RI Fzell 1 fagga & dog &= =fRe|

The pressure coil of a wattmeter should be connected on the supply side of the current coil when
(a) ©Ig YRT BIET 819 Yload currents are small

(b) I3 YRT ¥3Y 8197 Y¥Wload currents are large

(c) %ag?r diecar @ 897 W/supply voltage is low

(d) 3@3—? 7 Eﬁf’é’ sTgi/none of the above

RrgeshrT e, qlgﬁsqdmﬁmﬁﬁa‘aﬂﬂﬁﬁﬂ%mﬁ%ﬁvwm
&l ‘ |

Paramagnetic analyser is used to measure following gas sample in air
(2) 3SA/ozone

(b) 3HTFASTsT/oxygen

(c) #ATSCIStel/nitrogen

(d) SIS 3TFATSS/nitrogen oxides

I 2% i A&T uRT & 9y G i URAN A IR W Fer ¥ oar o F nEg

e ——— ’

If 2% of the main current is to be passed through a galvanometer of resistance G, then resistance of
the shunt required is

@ G/50 (b) G/49 () 49G @ 50G
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66.

67.

68.

69.

70.

qeeR ¥-HUh IiFd

Wagner earthing device:

() THr faat & gsiad &l FTc/Does not affect AC bridges

(b)y SrEr QR eriaeT FT THITAT FaT o/Affects DC potentiometer
(©) Wﬁﬁﬁﬁﬁ?ﬁmﬁﬁmm%l

Makes possible very high accuracy in measurement
(d) wﬁaﬁmﬁa-wm-mgﬁﬁﬁm’él

Reduces the frequency and waveform errors in AC bridges

mmmamm(wm)ﬁmmwmmm%?
Why resistor is used in Snubber circuit 7

(a) gif & &A FA/To minimize the loss

(b) TTSTHRI GRT FI FH FL/To minimize the charging current

(©) AEIT YRT T &H F1/To minimize the discharging current

(@) sRiFT WAL of these

Ridegd @lfer ——— GaNT AT ST Hhell gl
The dielectric loss can be measured by
(a) A=A @T-I'DIWien bridge (b) TA i%‘@' Hre/Moving coil meter

(c) Tl dig HIeX/Moving iron meter @) TR degd #HIcU/Electro-static meter

¥FATEET ——— &
AQUADAG isa
(@) ST 497 ST F WIS FET 8 WHRE F T A Jrerehd oAl

Non-conductive coating on the screen of a CRT to collect the high velocity electrons

(b) aﬁﬁwmﬁaﬁa—gﬁaﬁwmﬁﬁ@m@%wﬁmﬁmm|

Non-conductive coating on the screen of a CRT to collect the secondary-emission electrons

(©) %mawsaaﬁ?raﬁwméﬁoﬁnma%wﬂﬁmml
Conductive coating on the screen of a CRT to collect the low velocity electrons

(d) sﬂﬁr k) H‘»’Ié' sT81/None of these

#arﬁqé:mgmimaﬁ———mmmm%l

The dissipation factor of a capacitor can be measured by

(@ ® @IT:TD/ Hay bridge () AR @T:lg’/Schering bridge

(©) Hagdd @HJlMaxwell bridge (d) Vg @F\'o/Anderson bridge
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2.

13,

74.

3r3faT o g Af¥eT gfd ———— & g &l

No eddy current and hysteresis losses occur in

(a) TR é'c.'}flaﬁ IH/Electro-static instruments

(b) DTATHE THR & TA/PMMC type instruments
(c) el &g TF/Moving iron instruments

(@) fega fFaardr TF/Electrodynamometer instruments

3T #§ afFg oty 2f¥ed & dieear dfey & @A § A S9-

Power gain in decibels is equal to voltage gain in decibels only when

(@ 3y sfgen TEa gfderr & @@= Bl

Input impedance is equal to output impedance

(b) e wfdarem T @/Output impedance is zero

(c) T ABI/Never
(d) fAder gfderen ¢ gl/Input impedance is zero

wF AfFGAT TFR & aeArdT ——— IR gfafear &ar gl

A dynamometer type wattmeter résponds to

(2) wfaETdr afFa & fAWT A/Peak value of reactive power

() wfaErdr afFa & 39T A/Average value of reactive power
() IfhT oifed & fRI@T HA/Peak value of active power

(d) ufsT offa o 3TTd HAT/Average value of active power

SERRT Y — gRaft i gare #eX F TH 3G B

An example of variable head flowmeter is

(@) TIETATYI/Rotameter

(b) WN enturimeter

(c) YRS HdrgATdI/Ultrasonic flowmeter

(d) TS FATEAT/ Turbine flowmeter
19
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76.

1%

78.

7,

80.

3§ x=—2% ar ¥~ 2x—6 @ HAA e ]

The value of ¥ —2x—6whenx=-21s

(@ -2 (b) -4 () -6 @ 2
9, 12,27 &1 3oUaH TE IU-GS (TIHITH) RN |

Highest Common Factor (HCF) of9,12,271s

(@ 9 ) 27 () 12 d 3
1296 FT FIHT ——— ¢

The square root of 1296 is?

(@ 6 ® 16 - (c) 26 d) 36
(25)(5%) (25) T AT ———— |

The value of (25)(5) (25)

(@ 5° (b) 253‘ ey 5 d 25°
P dx+3=0 ¥ THEEOT F TF —— ¢!

The roots of the equation KL—4x+3=0is?

@ 2,3 by 1,3 ‘(c) 3,5 d 4,3

2:3:5%3@41?200:%3113??&1?@3?@,@raﬁr#@aaﬁmm & Fr foras
" B 82

200 mangoes are divided among three friends A, B and C in the ratio 2: 3: 5. How many mangoes B
gets?

(@) 60 b) 40 © 100 td). 25
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